H
S

o(® ¢ (rad)
a(d cot(0))

I DR U DUUUE U TUUE

i) :
IS : : : : : |
o |lllllJ,'um111].1:11u1uu1:1111111111:111111L111111111|
1 ||T]T|TI:TTTI|‘[‘|'|'I1:]TITIITI'II.ITIIITIIII,I'|'|'TIIIIIT.IIIT|'[||
0.95 : . : : ; 0.95 : : : : :
=3 -2 -1 0 1 2 3 = -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_origmal_originalvector_I000evt
— D8M70ng|nal710 Oevt
—— DQM_fitted4_1000evt
—— DOM_fit_nocpe_1000evt
=10 =
IS IS
e C2
> ;\N
o]
o °
5 o

23 =2 -1 0 T 2 3
TP n (PCA to beamline)

a0 p,/p,)

1074

e I I U L I P

|lluu:uuuuu:

1 [Ilm.:mf.-m, :

3 2 a4 0 12 3
TP n (PCA to beamline)

-2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


